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Q1. In the given question, two words are omitted, which are replaced by blanks. Choose the best
combination of the words that can fit into the given blank at the same order so to make a
grammatically and logically correct statement.

The company’s sudden announcement of layoffs was seen as by many employees, who did not
feel the decision had been from the beginning.

(a) abrupt, predetermined

(b) strategic, unexpected

(c) transparent, concealed

(d) calculated, improvised

(e) reckless, justified

Q2. In the given question, two words are omitted, which are replaced by blanks. Choose the best

combination of the words that can fit into the given blank at the same order so to make a

grammatically and logically correct statement.

The government’s response to the economic crisis was widely criticized as
public frustration.

(a) deliberate, intensify

(b) prudent, alleviate

(c) swift, suppress

(d) ineffectual, exacerbate

(e) measured, pacify

and only served to

Q3. In the given question, two words are omitted, which are replaced by blanks. Choose the best
combination of the words that can fit into the given blank at the same order so to make a
grammatically and logically correct statement.

The athlete’s return to the field after a year-long injury was both and , as fans wondered if
he could regain his former strength.

(a) unexpected, reassuring

(b) anticipated, uncertain

(c) disappointing, celebrated

(d) inevitable, dismissed

(e) predictable, unnoticed

Q4. In the given question, two words are omitted, which are
replaced by blanks. Choose the best combination of the words
that can fit into the given blank at the same order so to make
a grammatically and logically correct statement.

The whistleblower’s testimony was so that it left lawmakers

scrambling to the allegations before they could gain further

traction. ALL EXAMS,

(a) uninformative, dismiss ONE SUBSCRIPTION.

(b) baseless, ignore

(c) damning, counter ® . @ @
(d) neutral, endorse . . Q

(e) unfounded, deny
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Q5. In the given question, two words are omitted, which are replaced by blanks. Choose the best

combination of the words that can fit into the given blank at the same order so to make a

grammatically and logically correct statement.

The new scientific discovery was hailed as but also met with skepticism, as researchers sought to
the results through further experiments.

(a) revolutionary, replicate

(b) trivial, ignore

(c) debatable, obscure

(d) conclusive, pacify

(e) marginal, amplify

Directions (6-12): Read each sentence to find out whether there is any grammatical or idiomatic
error in it. The error, if any, will be in one part of the sentence. The corresponding letter of that
part is the answer. If the given sentence is correct as it is, then choose option ‘No error’ as your
answer response. (Ignore errors of punctuation, if any).

Q6. The pack of wolves (A)/ were seen roaming (B)/ near the deserted village (C)/ at dawn. (D)
(@A

(b) B

(dcC

(d)D

(e) No error

Q7. She narrowly escaped (A)/ to fall into the (B)/ deep trench (C)/ near the cliff’s edge. (D)
(@A

(b) B

(cC

(d)D

(e) No error

Q8. Despite being warned (A)/ about the storm, he insisted (B)/ to go for a (C)/ late-night drive. (D)
(@A

(b) B

(cC

(d)D

(e) No error

Q9. He pretended (A)/ that he knows nothing (B)/ about the secret plan (C)/ discussed in the meeting.
(D)

(@A

(b) B

(9cC

(d)D

(e) No error
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Q10. Not only he (A)/ ignore the warnings, (B)/ but he also (C)/ mocked the elders. (D)
(a)A

(b)B

(gC

(d)D

(e) No error

Q11. She found (A)/ an unique solution (B)/ to the complex (C)/ logistical problem. (D)
(@A

(b) B

(9cC

(d)D

(e) No error

Q12. The rebels planned (A)/ to blow out (B)/ the bridge before (C)/ reinforcements arrived. (D)
(@A

(b) B

(dcC

(d)D

(e) No error

Directions (13-21): Read the following passage and answer the given questions.

With the United States recently lifting its ban on online betting, the digital gambling landscape has
experienced a significant paradigm shift, redefining the intersection between technology and wagering.
Once constrained by stringent regulations, platforms facilitating poker, online casinos, and sports
betting are now flourishing, attracting an influx of new participants, particularly among the youth. This
legislative reversal has catalyzed a global ripple effect, influencing betting dynamics in Europe and
beyond. In response to this shift, several companies are launching innovative gambling platforms to
capitalize on the growing demand.

Unlike traditional casinos, which rely on physical establishments, online betting platforms leverage
advanced digital algorithms, artificial intelligence, and blockchain technology to ensure seamless
transactions and enhanced security. The immediacy of placing wagers from mobile applications,
coupled with the gamification of betting interfaces, has rendered the experience far more engaging than
conventional casino gambling. Furthermore, the integration of live-streaming services within sports
betting platforms has heightened real-time interaction, thereby allowing users to engage with the
experience in ways never seen before.

One of the most pronounced impacts of this digital transition is the surge in sports engagement. With
online betting becoming more accessible, the younger demographic is demonstrating a heightened
interest in various athletic competitions, including football, basketball, and eSports. Europe, a
longstanding hub for both regulated gambling and sports culture, has particularly benefited from this
trend. Increased viewership and participation in sporting events, coupled with a surge in revenue
streams for clubs and leagues, have fortified the economic structure of professional athletics. Moreover,
the adoption of responsible gambling initiatives across European jurisdictions has helped mitigate some
of the potential downsides of digital wagering.
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However, despite these apparent advantages, the rapid expansion of online betting carries inherent
risks. The accessibility and anonymity afforded by digital gambling platforms can foster addictive
behaviors, particularly among impressionable youth. A lack of financial literacy among new bettors
exacerbates the potential for substantial monetary losses, while the gamified nature of online casinos
may obscure the psychological toll of compulsive gambling. If left unchecked, what was once a
recreational activity can quickly devolve into a destructive vice, draining financial resources and leading
to social isolation. Additionally, concerns surrounding data privacy, fraudulent schemes, and
unregulated markets persist, raising ethical questions about the long-term sustainability of online
betting.

As the online gambling industry continues to evolve, striking a balance between economic benefits and
responsible gaming policies will be paramount. Without adequate safeguards, the societal costs of
unchecked digital betting could outweigh its economic and recreational merits.

Q13. Which of the following statements is/are correct according to the passage?

(I) The legalization of online betting in the United States has influenced global betting trends, including
in Europe.

(I) Traditional casinos are becoming obsolete due to the growing popularity of online gambling
platforms.

(IIT) The integration of technology, such as Al and blockchain, has improved security in online gambling.
(a) Only (II)

(b) Both (I) and (II)

(c) Only (III)

(d) Both (1) and (III)

(e) All (1), (1I), and (1II)

Q14. Which of the following is a concern regarding online betting, based on the passage?
(a) Traditional casinos will completely disappear in the near future.

(b) Online gambling companies may manipulate algorithms to increase losses.

(c) The increased engagement in sports may create biased betting outcomes.

(d) A lack of proper financial education may lead to severe monetary losses for new bettors.
(e) Governments will completely ban online betting again due to its risks.

Q15. Identify the INCORRECT statement based on the passage.

(a) The U.S. legalization of online betting has influenced global gambling trends, impacting regulations
and betting dynamics in other countries.

(b) Online gambling companies have successfully eliminated gambling addiction through Al-driven
detection and prevention systems.

(c) The passage highlights that gamification in digital betting can make gambling more addictive by
obscuring its long-term consequences.

(d) Both Aand B

(e) All are incorrect

Q16. Identify the correct synonym for "engage"” based on its usage in the passage.
(a) Capture

(b) Captivate

(c) Emerge

(d) Replace

(e) Evolve
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Q17. Based on the passage, how has the U.S. decision to legalize online betting impacted global
gambling trends?

(a) It has primarily benefited U.S. sports leagues, while the global gambling industry remains unaffected
due to differing regulatory structures.

(b) The passage suggests that U.S. legalization has caused a worldwide increase in problem gambling,
overwhelming responsible gambling initiatives.

(c) The ripple effect of this decision has influenced European markets by increasing sports engagement
and enhancing revenue streams for clubs and leagues.

(d) The passage implies that U.S. legalization has had minimal influence outside its borders, as most
online gambling companies operate independently of U.S. laws.

(e) The global sports industry has opposed this change, fearing that the rise of online betting could
reduce traditional in-person viewership.

Q18. What potential risk associated with online betting does the passage emphasize the most?
(a) The complete lack of gambling regulations worldwide, which has allowed fraudulent activities to
flourish.

(b) The psychological and financial dangers of unchecked digital gambling, particularly among young
and inexperienced users.

(c) The negative impact of online betting on professional sports, leading to a decline in revenue and
viewership.

(d) The erosion of traditional casino culture due to the increasing preference for digital betting
platforms.

(e) The long-term economic instability of online gambling companies due to increasing competition and
market saturation.

Q19. Which of the following words is the closest in meaning to the opposite of "vice" as used in
the passage?

(a) Corruption

(b) Virtue

(c) Immorality

(d) Sin

(e) Depravity

Q20. Which of the following statements is/are correct according to the passage?

(I) The reversal of online betting laws in the U.S. has only influenced gambling trends in the country
itself.

(IT) The integration of live-streaming within sports betting platforms has transformed how users engage
with betting.

(IIT) Online betting platforms integrate live-streaming services to enhance real-time engagement.

(a) Only (ID)

(b) Both (1) and (III)

(c) Both (II) and (III)

(d) All (1), (1), and (1II)

(e) Only (1)
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Q21. Which of the following words is the closest in meaning to "launching” as used in the
passage?

(a) Terminating

(b) Initiating

(c) Encouraging

(d) Preponing

(e) Withdrawing

Directions (22-25): In each of the questions given below a sentence is given with three words in
bold. Choose the option which gives the correct sequence of these words to make the sentence
grammatically and contextually correct.

Q22. The ancient temple torrential (A) under the relentless force of the majestic (B) rain, leaving only
fragments of its once crumbled (C) structure scattered across the valley.

(a) ACB

(b) CAB

(c) BAC

(d) BCA

(e) No rearrangement required

Q23. The commander’s pivotal (A) to launch the offensive (B) at dawn cost the army a reluctance (C)
strategic advantage in the battle.

(a) CBA

(b) ACB

(c) BAC

(d) CAB

(e) No rearrangement required

Q24. The detective’s astute (A) observations led to a crucial (B) clue that unraveled (C) the mystery.
(a) CAB

(b) ACB

(c) BAC

(d) BCA

(e) No rearrangement required

Q25. The leader’s resilient (A) attitude in adversity (B) motivated his team to face challenges with
fearless (C) determination.

(a) BCA

(b) CAB

(c) ACB

(d) BAC

(e) No rearrangement required
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Directions (26-30): Rearrange the following statements to form a coherent paragraph and the
answer the given questions.

(A) Their persistent efforts led to a remarkable transformation, ensuring a steady water supply and
revitalizing local farming.

(B) In the 1990s, the crisis deepened, prompting a group of determined women to take matters into
their own hands by developing innovative irrigation techniques.

(C) Additionally, policymakers announced the formulation of new programs aimed at furthering
women's empowerment in rural areas.

(D) Recognizing their contribution, the government not only praised their work but also introduced
incentives to support their initiatives.

(E) This inspiring movement has set a precedent for sustainable development and gender-inclusive
progress in the region.

(F) For decades, a village struggled with severe water shortages, impacting agriculture and daily life.

Q26. Which of the following is the correct sequence after rearrangement?
(a) FABCED
(b) FBADCE
(c) BAECDF
(d) FADCEB
(e) BCDEAF

Q27. Which of the following is the FIRST statement after rearrangement?
(a) A
(b) B
(ccC
(d)F
(e)E

Q28. Which of the following is the FIFTH statement after rearrangement?
(a)A
(b) B
(ccC
(d)D
(e)E

Q29. Which of the following is the THIRD statement after rearrangement?
(@A
(b) F
(0 C
(d)D
(e)E
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Q30. Which of the following is the LAST statement after rearrangement?
(@) F
(b)B
(0 C
(d)D
(e)E

Directions (31-32): In each question two columns are given, each containing three
phrases/sentences. Choose the option that will connect the phrases to form meaningful and
correct sentences.

Q31.

Column I

A. Struggling to navigate the stormy seas,
B. The unexpected turn of events

C. Enduring the relentless hardships,
Column II

D. they refused to abandon hope.

E. left the entire nation in shock.

F. he emerged stronger than before.
(a) A-D

(b) B-D

(c) C-F

(d) A-E

(e) Both A-D and C-F

Q32.

Column I

A. Concealing his growing frustration,
B. The sudden betrayal of his closest ally
C. Fiercely resisting the oppressive rule,
Column II

D. was an act of defiance

E. shattered his faith in loyalty

F. was rolling hills in a warm glow

(a) A-D

(b) A-E

(c) C-F

(d) B-E

(e) Both A-D and B-E

Directions (33-38): In the following passage there are blanks, each of which has been denoted
by letters. For each blank, five options are given. Choose the most appropriate word from the
options that fits the blank appropriately.
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Black pepper, often referred to as the "king of spices,” (A) an essential component of cuisines
worldwide and has been used for centuries in both culinary and medicinal practices. It (B)
originally cultivated in South Asia, particularly in India, where it thrives in humid, tropical climates. The
distinctive aroma of black pepper (C) from its volatile oils, especially piperine, which
contributes to its pungency and potential health benefits.

Although black pepper (D) widely used today, historical records indicate that it (E)
once considered a luxury item, traded as currency in ancient markets. To preserve its full flavor, whole
peppercorns are often preferred over ground pepper, as grinding (F) its essential oils to
dissipate over time.

In recent years, the rising global demand and fluctuating agricultural yields have led to an increase in
the price of black pepper, making it more expensive than before. To maximize its freshness, black pepper
should be stored in an airtight container away from heat and moisture. Whether used as a seasoning or
a medicinal remedy, black pepper remains one of the most widely consumed spices in the world.

Q33. Select the most appropriate option to fill in the blank A.
(a) remains

(b) signifies

(c) denotes

(d) embodies

(e) constitutes

Q34. Select the most appropriate option to fill in the blank B.
(a)is

(b) has

(c) had been

(d) was being

(e) was

Q35. Select the most appropriate option to fill in the blank C.
(a) emerge

(b) derives

(c) originates

(d) stems

(e) exudes

Q36. Select the most appropriate option to fill in the blank D.
(a) is

(b) was

(c) has been

(e) will be

ALL EXAMS,

(a) has ONE SUBSCRIPTION.
(b) was
(c) had
(d)is
(e) are

Q37. Select the most appropriate option to fill in the blank E.
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Q38. Select the most appropriate option to fill in the blank F.
(a) causes

(b) had caused

(c) has caused

(d) cause

(e) will cause

Directions (39-40): Which of the following phrases given below the sentence should replace the
phrase printed in bold letters to make the sentence grammatically correct? Choose the best
option among the five given alternatives that reflect the correct use of phrase in the context of
the grammatically correct sentence. If the sentence is correct as it is, mark “No correction
required” as the answer.

Q39. Despite of the heavy storm, the fishermen decided to set sail early in the morning.
(a) Despite the heavy storm

(b) In spite the heavy storm

(c) Even despite the heavy storm

(d) Although of the heavy storm

(e) No correction required

Q40. Had he known about the crisis, he would help his colleagues before leaving.
(a) he would had helped

(b) he would helped

(c) he will help

(d) he would have helped

(e) No correction required

Directions (41-45): QTIT AT SAAT-AAT SHILAT | ATASIA & 6 FHATRAT g1 ATS[(8d A<,
qIES &7 ST S &1 3 FHATRAT I AT Ted FASr T ATIT ST GIAT FAST T TTQAerd LT gl
ATITT T LT FL < Awrfertera v % I

SARA v e ga S | gevHE aa S | @rel eHaEal
arﬁlqi%ag ﬁﬁﬁéﬁ%ﬁﬁ? 7
HHATNGT §IRT
g werel &1

SruTd
A 4x+40 2:1 40%
B 240 8:5 25%
C 300 5:3 20%
D 150 2:1 55%

Note - 1. A ® STfeN[fgd wiel & &#&aT 300 B
2. THTA § T A< = AR [ed A + FTAT FAS
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Q41. A ¥, QTASAS & | FTH FTA qTAT AIQATIH GIT AT TAe! T AT 120 § S Foh gt sfix fAsht
8 g AR TAS & 20% ATAF Bl AT & | qaut i< st &= # wigermsh grar stfenqfRa et
T TT T FTT

(a) 80

(b) 90

(c) 100

(d) 150

(e) 120

Q42. TATT F &, ATARITRT et T @Teit et 7 STATT THILT B THTT 2| 3 AT & 6 FHAT AN
ST AfERfRT e A 3K B § fAsht & & swd=iRat g afen[fiRa wiel &1 siaa 81 IR F & @wlt =
TSI &7 F FHATAT AT[Rd FAel &1 2/597 Rear €1 F & it & F =it g sfeeRa 3
S EIRIENIE I

(a) 25

(b) 39

(c) 24

(d) 50

(e) 20

Q43. C ¥ areft w2t s B ¥ iy Wt v uw A, ¢ ¥ Pt e g s wet o D ¥

HTASHE & o FHATIAT T AT (T Tl & ST AT iy
(a) 5:6

(b) 17:11

(c) 10:11

(d) 1:1

(e) 12:11

Q44.D &, ATEST{Ah &1 F 20% FHIATIIT 3 TTH HIC & 3T AT 5 IT9 975 & 9T [AS(t & F 40% FHATRAT
% T STSF § < AT & ITH FIX gl TSI &5 & FHATIL & IT9 qT5h AT A &7 F FHATRAT F 109

T 1 (A AT HOT
(a) 50

(b) 75

(c) 100

(d) 125

(e) 120

Q45. I TF Al # TSt i H&AT 2.5x § 3 TAT Aiorer # wAeh i 9&ar 991 g1 C 3% D § |iSret it
YT T T AT HIfoT)

(@5

(b)9

(c) 10

(d) 11

(e) 12
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Directions (46-50): Rz a1 =1e i< ST UTE T e ga T sreda HY T A= g 1 st & S
T ATH I STAT-STT TR I THIIAT TFAHTA i FHTET T Y For G&AT IQATAT g1 TS, ATE 3T
TRTHT GTXT TRITAT THTAT T3 & Traera f&aor it geriar gl

VT A BT YT I3 o et |1 50 B

300

250

200

150
100
50
1]

A B C D E

B o g HY HEE 9T

HATIR 93 &1 9faerd

Q46. F ST THIIAT THTAT T3 Hl T §&4T, C ST THIAT THTEAT A1 =l &7 & 25% A8 § a7 B
S F gTT TR TiEehrelt 1 et €T 7L 7 & 4 % Aq9Td § g1 F g7 TR qai=enrst i< 9= a1
& T AT & A1 A< AT HI9T

(a) 40

(b) 45

(c) 35

(d) 30

(e) 20
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Q47. A EIT THTTAT TEAFTSA T TEAT FT 40% ST SATAT § ST A FIRT TR THTHAT I i €641 HT 20%

Tl faeaT &, A7 A TRT 9= TS TEeTet $i THT= At Y T HAT T AT AT HIoT)
(a) 7:12
(b) 5:11
(c) 3:13
(d) 4:19
() 5:16

Q48. D G THITAT @ < HerT TIAHTA T SATATT FH: 5 1 4 §1 D ST THRITAT @ TFAHTN HY §&AT, A

ST TRTTAT THTAT T 6 FT TAT T a1 viaera 82
(a) 125%

(b) 80%

(€) 65%

(d) 75%

(e) 100%

Q49. G ST THITAT THTAT T3A1 it Tt G&AT E FY TATT H 4 TOIT A8 g i< G TR THh1i<ra aiawmsh f

AT A Y TATT A X FH 8, T G T THTAT THTATE TAT S TEAHTH T o AT A1 i o7
(a) 250
(b) 150
(c) 190
(d) 180
(e) 215

Q50. B 3i< F GTXT T AT Th1T AT THHTA 1 o 9T 12X g1 F 37T D G THh1iera afrehreit #f shea sear
EICEA ISy

(a) 110
(b) 120
(c)90

(d) 130
(e) 125

Q51. A #iX B 7 U&F AIETH L& (AT, 3iT ST [Aaer F7ET: 4 1 5 F SATITT | AT TH W o 3 A ATHIL T
30% T &9 & faafa T sirar g, si< Orw arsiier fr 39 a1 & g0 | fAafa T smar gl ak A i

B & @rstier fed o o= %7 siq< 280 T4 §, O Tt AT (TIA H) 1A A
(a) 3200
(b) 3600
(c) 3800
(d) 4000
(e) 4400
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Q52. T&F FTH (X+14) STAT it SHET L X 9 g1 190 <I FAerht it 311 arrfaer it STt €, v siraa g 0

Y 9% ST g TR ST A FT AT 64 T &, T X ATT H2
(a) 12
(b) 24
(c) 20
(d) 14
(e) 16

Q53. T S T<h LM AT I T, I AT HTqr § i aw & ofq ®§ iy su =afe gra g fHr g afr i

13 07T BY SATAT g1 T T o SATST T T HATHT AT GHA T AT IO 8, AT ST &L AT HITorg]
(a) 20
(b) 50
(c) 40
(d) 60
(e) 90

Q54. 8T Y T, AT £V 6T F AGEA TR FT 03 70 S v i o & ey F wfvge 120 A Hr gh
T FLAT gl AT 19 T & g D-3 3t qm D+30 (e1fd St & A1 iy 1fqr /) Foneft 5.5 5 & 97 Fgalv
&, AT D T | AT hiforq)

(a) 55

(b) 75

(c) 80

(d) 60

(e) 45

Q55. &1 Fd9 X 3T Y H g i< IT+T & {47 g1 99 X § g i< It 7 Aquma w74L: 5 : 3 §, ST aae
Y ® g S ATt T TRSIor e 7 0 5 81 I Y H g 3 T #7 AL, aa9 X H gt a6 gl S 199
Y ® 9T S X & | 5 le A9k §, I a9 X § F [He1o7 /19 rforgl

a) 156

Eb% 126

(c) 120

(d) 16

(e) 88

Q56. X, Y i Z T &1 T 1T 190 I g1 X i< Y it 30 o 1= 7 3(q<, Y 3T Z Y g o 1 & Aa< Fr
IEAT 81 I Y g 7 Z A Y F Iq91a 7: 9 &, T X ot A SwTfaq oy (a9t §) 14 shirora) =
T g 6 X & g < Y FF &g g S ot sy qurtes 7 g

(a) 30

(b) 40

(c) 36

(d) 25

(e) Rt 7=t T ST Fehar
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Q57. et a&g &1 77 ToT X T § 30 T8 T T F 40% srfers 7o o sifara fawar war g, stafa sifeea
T T 20% e <F T2 81 A 77 g7 100 T F7 g i s g 80 =¥ a1feyar §, qv a<q I W AT
60% g TG F T AT I (T4 ®) F1q Hiforw

(a) 540

(b) 720

(c) 840

(d) 560

(e) 600

Q58. TH =ARE 7 ToHT A H 8.006% Y T { 919 I9 3 &7 3 forw |rermeer s71r 9¢ (X-2500) 93 7 Haer
T i S TSMT BH 10% i a9 #t 3 & 2 a9 2 iR & o wsrgfg samer a2 X =9 &1 fRaer fGmm
7 AT AT A TTH TS F T T 3T 900 T4 &, A T A § fder f 1€ fey (73 ¥) w19
ENIE Y

(a) 5000

(b) 5500

(c) 7840

(d) 7500

(e) 5600

Directions (59-60): R & sfaar # w=a gear 7ra fifsm)

Q59.8, 21, 41, 72, 116, 175, 257
(a) 257
(b) 116
()21
(d) 175
(e) 41

Q60.5040 7201202482
(a) 720

(b) 120

(c) 5044

(d)2

(e) 8

Directions (61-65): & TS STHHTA T LATIAH AFAT H. AL Aaforiaa w1 % S|
T TR I TA AN o6 AT H & ST AN AT -3 & ITAT ATATT I, ST A fohehe T6& F2d 3| Had

ATATIIA THE kA qTl ANl HEAT (x+10) g ST Fael AL THE FLeA AT ANl HEAT, ATA G THS

FLA ATl AN ! ST H 15 FH g1 Hal [ohehe TEHE it aTel ARTE i HEAT 28 Bl gl Uk G THE FHee a1l
ST 30T SEd Tt 21 8| A Tl i U AT THE HT a7l AN %0l H&AT 50 g AT e 3T oraest &l Tk

AT TEHE T ATl SATHAT T AL AT Tohehe I THE FleA ATl SATHAT & FITT 1 : 2 | AT TH e A

ATl Fof SAT<RAT 0T H&AT 96 B
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Q61. Fa<t fhahe 3T AL TH FLA ATA AN T, FAA ATATT (A TS FEA qTA AN A SIAT ST I 19T
(a) 24:25

(b) 25:24

(c) 15:16

(d) 10:9

(e) 5:4

Q62. FI TF T THE ¥ AT AT AT THT Gl T T AT THE FLA AT AWM 6 S 19 (AL 7T Ffora)
(a) 20
(b) 13
(c) 15
(d) 12
(e) 14

Q63. Fa AT A< e THI FLA ATH ARN T T&AT, HAA (e 6T FLA AT AT ! ST F SRAT
gl AT TEHT FEA qTA AN T AT

(a) 120

(b) 125

(c) 143

(d) 110

(e) 115

Q64. X FT HTT AT Hf Tl
(a) 20

(b) 25

(c) 15

(d) 10

(e) 5

Q65. AL THE FA AT [EY AT ATGHAT T AT 7:5 §, TV AT THS FLA ATAT AIATH T G&AT, THT
@Al Il TEHS FLA AT AN 0T TAAT | Fohae TTerd STIEeh/H7 872

(a) 20%

(b) 10%

() 90%

(d) 80%

(e) 25%

Q66. A I FHANTT G TEATE it AT § i B I FHNIG [A9H GE&ATsH i J@T g
FEAT A FT T IS @AT B F d L I 8 3 it g1 i< QA1 g@aArsit & T 9 HT IR 397 §, AT g@ar A

T B % 9L 9 T TRT 74 Hiforg)
(a) 403
(b) 407
(c) 405
(d) 401
(e) 409
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Q67. TF AT T HAHA T g1 &% d 528 1 A stfdra {1 AT qq i Fa1s, i< ASTS, 7 T

26 : 11 31 TR g it Broar A B SrerE B 1100 T &, o B o (3t ) 1T B
(a) 14

(b) 10.5

(c) 28

(d) 21

(e)7

Q68. T T T, A 3T B it sfera o 30 9 ofY| 3w a9 97, A it Y FT B ¥ A F Squr7 5: 7 TR

7% qt=r af gz C #it oy, AT a ag«t B i g F7 gmmm,a‘r C F TIH oy (T /) AT ST
(a) 40
(b) 35
(c) 45
(d) 48
(e) 32

Directions (69-70): fRsrfrfera 1 & T o< et § X R 1w et & srame w= _Rufefaa vt ®
I AN

Q69. V #iiX D it §9q Tl AT AT gINT?

I VT ST ST T H 4% FH g TAT Vo =37 HT S T | A1 7 : 8 gl D SAI+T 3 T %a]wm?
FAT 2

ll.Sfraa-cr14000€q'&%EraTvsﬁraa-cr148006@%1 D T 3 S #T A & 2000 FIF ATAF g

(a) FaT FAT | TATH

(b) FAAFIT I TATH S

() I [ 3T 11 AT U |1 9478 &

(d) =T qTFHAT [ AT F4 11 37l TATH

(e) T FAT I T & FAF [ TATH &

Q70.3raW 1% R Y A FAT§?

I A 3% N 3 3r8d o 24 a9 & TAT R ¥ 3 T A it 0 & a1 2 : 3 2l
ILN,SH 499G TSTE qTATS &I AL FTR AT AL H AT 1: 2 7

(a) FaT FAT

OEEEERLRI

(c) 1 i< 11 =TT U |1

(d) T FHIT TF AT TATH TS

(e) AT AT 13T 11 3Ther
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Directions (71-73): 1= fRTTT TAF T 7 T FIAA & 91 75 Acwd U 10 &1 straehr w911 7 < 15 it
AT FT G HEAT 8, A g1 F HATIT: T a1 & T3 Tfia gia 8 31, qram=aa: 7 41 &l Toreiars
F<d gy, iy fifvrg & R e Aot & & ste-ar Ao et 0 qifds 0 8 siqa<or #3ar 2

Q71. FY:

aeft Toe, ST B

FAA T AT, B gl

T T, T T 8|

A

I THT e o TeOe g il HATaT 5
1L Fg 1T, A 2.

(a) A | ST FXAT 8

(b) A< 11 SATELIT FLAT

(c) AT AT 1 AT 1 AL FXAT &
(d) 13 11 FHT a7 X &
GEIERIERGIUEEERE]

Q72.%9A:

FAA oA, T B

FEFE, T &l

it F1T, faT g

A

1. % ToIe T 197 ZIAT FFATaAT 5
11 TdT 27 T off F7T AT 21 Tl

EIEEERE LGRS FLATE

(b) =A<t I STET eh(cu%

(c) IT AT AT I AT FAT S
(d) 1 3 11 ST SIqELT Fd &
(e) FTS T SATALT Al el

Q73. F:

TS T, HT L1 5
FAA TG, FT, WIE G
T 7T, TA B

Test

ALL EXAMS,
ONE SUBSCRIPTION.

240]O
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A

1. et wote o Fq A5l 31 sl FHTEAT B
11 Tt 0 ofY ot wore 721 21 e
(a) e | ST FXAT g

(b) A 11 SATELT FLAT

(c) AT AT 1 AT I ST FXAT &

(d) 1 S 11 FHT SIqET0T i &

(e) Frs ft AL Al Hear

Q74. s &1 797 fifvrw
(a) JMH

(b) TWR

(c) EHC

(d) QTO

(e) ORK

Q75. €=AT ‘83573971’ & 3wl & U fohaw 40 &, FS=H & &% & i< (3 o= i A et &) Sa=v &y
3 & Forae TeaTeHS AT h ATATE I7F 19 gId 87

(@ T®

(b) =TT

(c) =

(d) &t

(e) AT & ATerF

Directions (76-80): & S ST I SATMIAH T2 T ST G AT T 6 SAL Qo1

AT =R A, B, C, D, E, E G, H, | T Ua ot § e 9ai 9% H=h 6T 73T g @ 90 10 | | =6 Tg1
TRIT 9T 81 T 92 CEO (=T FIAHIT ATIFRT), CFO (& A== ATeaTr), CTO (BT Taheilehl SITEHTLN),
CMO (=T faure sfaardl), VP (SUTedeT), GM (ARTIEE®), AGM (FgTa% HeT9ae), DGM (3T AgTIae),
TEF 81 T I FHT: CEO | T4 T FISdT F Fed #7 | U 7 )

foro wveaT § =7f<h B ¥ a¥g 81 B 3fiT H % = 9 =7f<F &1 C, H ¥ a7 98 918 81 B ¥ C o= fAg=h =t
#T TEAT, E | A4S SARAT 6l 9T H T 7 gl A, G H I I8 F7Y Bl G H FAS ARRAT 6l 96T, F 7 IS
SITRAL sl AT F AT AT g1 D AgF HgIIa e Tal gl

Q76. 19 wfqy safxnail & dear, __ a afvg safteai it dear & aua gl
(@G
(b)H
(c)C
(A
(e) F
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Q77. FRwferfera § & Fi-a1 o 7Lt 87
(a) F 1 & TaeTe6T srfaremdy & &9 & fges frar g
(b) G 3% B F &1 A< F FH Ah &

() A DISFHFAT R

(d) E & 91¥8 S {4y =f<eal 7 qeat a2mea< g

(e) A, WETIELF H AT §

Q78. Rwrfarfera & & v sie safRei T S=-91/3 TH agr 8/87
(a) TETHF HETITLF - |

(b) 3UTEFET - D

() T=T AT ATeHT - F

(d) J&er - E

(e) Tt 2T g

Q79. =afReait 3 Faver et g =rfeh, qEk AR & i @ AR &2
(a) G-A

(b) C-I

(c) H-F

(d) D-B

(e) B-E

Q80. R & & 7 13 &1 2 w1 7
() H
(b) E
(c) A
(d) C
()G

Directions (81-85): &t S ST I SATMIAH IIT i G A T 6 SAL QI

14 ZT<h &7 AHTAGL Gh T H SH Ag 96 & (h TAF Uh § 7 AR 9661 B,C, D, E F, G, H-9F 1 95§ 3T
ST AT AL I@ g Tah P, Q R, S, T, U, V - U<k 2 § & ¢ i< Fferor it oY I=0@ g1 Ak [0 T0F7 § 751
S 81 TAT GIRAAT % FAT<h TH-HL i AT I7E 2|

T, 39 =AT<h il AT I E g ST G o 70 9L T T 93T 81 G % d75 AL 6 ARAT o0l 94T, P a2 3T &
SIRAT %l HEAT 8 U ST(e g| ST SAT<h P &l AT I7@ &, g B & 31 212 A ST 5| F T a7 3w S aw aar
g AT TSI G o SATE g VAT 3T I+ @ AT<h oAIT F % 19 &1 | (T ATh 9 g1 T 3 V o i & AT a0t
HEAT, D ¥ E o 1= & SARIT ol 66T % G919 g1 S, Q o T4 dra< &9 9T 437 g1 C 3 D o 1= a7 AT
4§ a1 D, R*F Aqfa a1 3l
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Q81. FaferfEr af= # & o< U s a0+ & o+ § sk uw g a wefaa &, e daswage
T e e 87

(@u

(b)V

(cH

(d)D

(e)R

Q82.F i i qw fFr gr =t iU F g raa safke 35 §7
(@ T+

(b) &7

Okis

(d) =T

(e) 7=

Q83. sFRThT s ARFF AT R HFT T TR
(a) =TT & T

(b) gt amd

(c) =TT & =T

GEGEIRI

(e) =10 & e

Q84. Mwfrfea # & HI-9T 7 97 57
LUFETE AT AL AR a6 8

ILE, G332 AT 318

111. F, H T TFATT TETET §

(a) FaA I

DEEERIEESII!

(c) Fa< 111

(d) FaeT1

(e) FaeT 1 3T 11

Q85. I}V, E ¥ §=faa &, P, B & defir &, 261 T Q ey weiftra 37
(a) G
(b)D
() F
() H
(e)C
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Directions (86-90): Faferfea sardy #1 samgd s steqae Fiforg sik = g 1wt & s

Arateq A, B, C, D, E, F G, H, | U & 39¥ Uk TG U g ATk ST Agl (o SHT 7 § W& U i| FTAwmaw ar
T FTFT A o ST T T Z| T A 3 19 H % o= <1 19 T T G| T E 7 e H F e @ m
AT Z| AT A 37T AT E 5 S TG U i T TeT, St E i a1 G % S 19 T T0 i Y Tea1 F 20
FH g1 T B T AT D F 3T FUT TET AT ¢ TAT T D, TR C | <1 EATH UL 8| T F Rl JiaF [T T

T ST T@T AT ¢

Q86. Tta G AT TTFT A F i fFrq TFar @ TTR?
(@) TF

(b) =T

(c) =

(d) =

(e) ar=

Q87. M & & FF-97 T Ta9 FIL T I T@TIAT 2
(a) A
(b) G

(c)B
(A F
(e)H

Q88. Fia F ST T C F SV 19 i 9T 199 &7 AT 87

(@) B
(b) G
(c)H
(d)D
(e)E

Q89. T8 HUT | i E T ggt ST HI7-97 g7
(a) =TT

(b) wi=at

(c) B3t

(d) |Taat

(e) smaat
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Q90. TfX T E, (T B & T T8q g i aiaq H, e D & Fafaa g av ST T qiaq | § Si=-a71 qiaq
Hefara grm?

(a) TFT A

(b) T F
GEIE:E®
(d) =T H

(e) TFT G

Directions (91-95): fRufrfera STt &1 samg@ e steda Hiforg i i frw 1w et & s Ao
AT SATF S SAAT- T Aot srorid siahis, Tt 3T o | Ugd &1 9 & F7 T =71<h a917
ErafEemes § usd € e O & siferes =i~ aam ErafEmmes & 78 ugd 81 S8 & Tos &7 STolvT-3769 4T
THTE |

P 3T §3T 49T THE g (e dg ST § Agl 92dl gl T hael Q & 97 UZdT g AThd I <FTH H A5l 98 g1 S 3T
Fg Ah S8 T T 96E ¢, T8 fSafaemad & 9gd g1 V ¥ ag ARw S 7% 37 9692 8, T80
FEraterame™ # ugd 81 F =T [oivg U 3l g37 307 99E &, I 7 af 901 i | 3T 7 gf #4979 § 92d gl
T AFARIE | Al I2dT gl T HAh [oivg [#ea< 3T T W7 T68 g, TH feaeamed § 9g2d gl V UF & few
FTRAT & AT 92dT g Q &l ¥ea¥ 7 I86E Agl gl R AFARIE H qg! G2dT gl R Fl Teg 3T T&A 1 060E A5l
21 S ST U T e 37 963 781 2

Q91. Rwferfera & & &I siiaFawis | Igadr 872

(@A PR

(b)S, v

()RS, V
(dPQT

(e) =7H F FI< gl

Q92. T%g TT fFe qeE 82

@ Q
(b) S
(R
@V
(e) T8 & #I< AT
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Q93. Fufeifera & & F-a1 T T it 78T 872
(a) =T

(b) TMree

(c) #&T

(d) FRrea<

() TTH T FE AR

Q4. T F o F-aT T T §?

(a) P i< S o7+ fAsafaemers & vz &

(b) TR T TTIHT &

() RTFmH § qgaT &

(d) T =<F fRrea™ 4T 9% F2aT1 ¢ 98 Fieasl § Ugdr g
() (c) ¥ (d) =t

Q95. Mfeifera & & it 2aaTe ¥ ygar §7?
(a) R ag =fF SR T T awe g

(b) S ST g =< SE T%g VT IEE 8
(o) ViR ag =afr P g ST oda 8
(d) Q ¥i< g =af~w o Rear Trowe 8

(e)ﬁﬁ@fsﬁ%q@:

Directions (96-100): RHfEaT STHHT T eAMIEF seqa+ Hforg i A= g 1w vt F s
AT SAT<h STATA A, B, C, D, E, F 3% G (ST STl Al {6 o1 7 ®) U d7q HISAT SHIT | T2 & a97 AT

H S T AT 1 7, THH 31 U areAt Hiorer wedr 2 8, T qaq it /iorer it €% 7 €)1 T4 oA f<h &l

S-S T AT B2, ATH, ATAAE, T, FHIAT, TATAT AT TR (AT STELT TGl 1% 36T /7 H) THS g

G TH HEAT ATAT HoTA T TgAT &, AToheT AT W TEHE HXd ATl AT<h | A FIor ST T2aT gl THA LT TH3

FXA AT ATh & HIL IAT &f AT T8d &, [STae SATh HTAT W THE F ATl ATk & A1+ Tgd gl C, THg T

TEHE Tl ATl SAT<h ° &l Ao S9L TgdT & AT THE T THE HXd ATAT SAT<h [A0TH ST aTell Hiorel 9% Tgd]

g1 C &1 FTAT T THE gl gl B, ATAE TN THE Fded a7l SATh | & Ao HUT T2aT gl g7 U7 THE LA aTedT
F{<h, AT T THE FLA a7l SAT<h & 5% S LgdT gl E X F & &= 19 & AT ATh @d g aaTE D+

I FIT AT gl
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Q96. T a8 HUL HiRrer IX FIT EaT §?
(@A
(b) G

(gcC
(d)B

(e)E

Q97. AT ST FHTAT THE FLA ATA AT o e fahaeit it §?
(@) TH

(b) 3T

(c)

(d) =TT

OEIEGE]

Q98. C & FIT A qTA ARKIT T T&AT, _____ & o TG ATl AR it 96T & TH F7
(a) a8 =A<k P A T THE 8

(b) ag AR S AT T = 5

(c) Fg AR S aAee W IHT g

(d) 78 =f<F S I W aEE g

(e) a8 =aT<F P FAT W T ¢

Q99. Mwferfera # & &M X1 T THE HTA a1 16 o S HIL LT 87
(a) T AT N AT T THE &

(b) g =F NE AT T IHT ¢

(c) 78 =f<F NI a%he Wrqes g

(d) 78 =< S I W aEE g

(e) T AT<hH ST FTAT W IEE &

Q100. Fafrfea # & F9-a7 T3 T §7?
I. G STHTST HE&AT ATAT KISl UL A5l Lgal &
II. A AT T THE FIA AT ATk o6 9L Tgal &

1. G i F 3 o= 7 7 7 21 et a7 o 3 ) | Prime

(a) Fa 111

(b) 1< 11 =1 ALL EXAMS,

(Q ¥ ONE SUBSCRIPTION.

(d) 11 3= 111 =74t
(e) FT< fraT eI €
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S1.Ans.(a)

Sol. The sentence discusses a sudden announcement of layoffs and how employees felt the decision had
already been made in advance. "Abrupt"” means sudden and unexpected, often in a way that seems rude
or shocking, which correctly describes the nature of the announcement. The second blank requires a
word that suggests the decision was already made, and "predetermined"” means decided or fixed in
advance, not influenced by later events or decisions, making it the most logical choice.

Meanings of all options:

e Abrupt - sudden and unexpected, often in a way that feels unplanned or even rude.

e Predetermined - decided or established beforehand, not allowing for change.

e Strategic - carefully planned to serve a particular purpose, usually in military, business, or politics.
o Unexpected - occurring without prior notice or anticipation.

o Transparent - open and clear, without hidden motives or deception.

e Concealed - kept hidden or secret from view or knowledge.

e Calculated - carefully planned or intended, often to achieve a particular outcome.

o Improvised - created or performed spontaneously without preparation.

e Reckless - showing a lack of care about the consequences of an action.

e Justified - shown to be reasonable, right, or necessary.

S$2. Ans.(d)

Sol. The sentence suggests that the government’s response to the crisis was criticized and made public
frustration worse. "Ineffectual” means not producing the desired result or failing to achieve
effectiveness, which fits the criticism. The second blank should indicate an increase in frustration, and
"exacerbate” means to worsen or intensify a situation, especially a negative one, making it the best
choice.

Meanings of all options:

o Ineffectual - lacking the ability to produce a desired result or having little impact.

o Exacerbate - to make a problem, situation, or feeling worse.

e Prudent - acting with care and thought for the future, showing good judgment.

o Alleviate - to reduce, relieve, or lessen pain, suffering, or difficulty.

e Swift - happening or done quickly, with speed and efficiency.

e Suppress - to forcibly put an end to something or prevent it from being known.

e Deliberate - done consciously and intentionally, often with careful thought.

o Intensify - to increase in degree, strength, or severity.

e Measured - carefully considered, controlled, or moderate in approach.

e Pacify - to calm or bring peace to a person, group, or situation.

$3. Ans.(b)

Sol. The sentence describes an athlete’s return after an injury. The first blank should indicate that
people expected the return, and "anticipated” means expected or looked forward to with excitement
or concern. The second blank should reflect uncertainty about whether he could perform well again,
and "uncertain" means not sure, not predictable, or not definite, making this the best choice.
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Meanings of all options:

e Anticipated - regarded as likely to happen; eagerly awaited.

e Uncertain - not definite or sure; unpredictable or unknown.

o Unexpected - not foreseen or predicted; surprising in nature.

e Reassuring - giving comfort, confidence, or reducing doubts or fears.

o Disappointing - failing to meet expectations, leading to dissatisfaction.
e Celebrated - widely recognized and admired, often due to achievements.
o Inevitable - certain to happen and impossible to avoid or prevent.

o Dismissed - rejected or refused to consider something seriously.

o Predictable - easy to foresee, expected, or lacking surprise.

o Unnoticed - not seen, observed, or given attention.

S4. Ans.(c)

Sol. The sentence discusses the impact of the whistleblower’s testimony on lawmakers, implying that it
was strong enough to cause concern. "Damning” means strongly critical or incriminating, providing
evidence of wrongdoing, which fits the context. The second blank should indicate how lawmakers
reacted to this testimony, and "counter"” means to oppose or respond to something in order to weaken
its effect, making this the best choice.

Meanings of all options:

o Damning - strongly critical or revealing evidence of guilt or failure.

e Counter - to oppose or act against something to reduce its impact.

o Baseless - without foundation or evidence; not supported by facts.

o Ignore - to refuse to acknowledge or pay attention to something.

o Uninformative - lacking useful or relevant information.

o Dismiss - to reject, disregard, or refuse to consider seriously.

e Neutral - not supporting either side in a conflict or argument.

e Endorse - to publicly approve or support something.

e Deny - to refuse to admit the truth or existence of something.

$5. Ans.(a)

Sol. The sentence describes a new scientific discovery that is both impressive and met with skepticism.
"Revolutionary" means bringing significant change or innovation, often in a groundbreaking way,
which fits the positive reception. The second blank refers to what researchers are trying to do with the
discovery, and "replicate” means to reproduce or duplicate results in order to verify their accuracy,
making this the best answer.

Meanings of all options:

e Revolutionary - causing a significant and fundamental change, often in science or society.

o Replicate - to duplicate, reproduce, or repeat a process to confirm results.

o Trivial - of little importance, value, or significance.

o Ignore - to deliberately disregard or not pay attention to something.

o Debatable - open to discussion or argument; not definitively proven.

e Obscure - to make unclear, difficult to understand, or hidden.

e Conclusive - serving to settle an issue; definitive and final.

e Marginal - of minor importance or relevance, having little effect.

o Amplify - to increase, strengthen, or expand something in size or effect.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

$6. Ans.(b)

Sol. The correct answer is option (b).

Error Explanation:

e The phrase "were seen roaming" is incorrect because the subject "The pack of wolves" is singular.
e "Pack" is a collective noun and is considered singular when referring to the group as a unit.

e The correct verb should be "was seen roaming" instead of "were seen roaming".

Correct Sentence: "The pack of wolves was seen roaming near the deserted village at dawn."

S$7.Ans.(b)

Sol. The correct answer is option (b).

Error Explanation:

e The phrase "to fall into" is incorrect because the verb "escape” is always followed by a gerund
(verb + ing) and not an infinitive (to + verb).

e The correct phrase should be "escaped falling into" instead of "escaped to fall into".

Correct Sentence: "She narrowly escaped falling into the deep trench near the cliff’s edge."

$8. Ans.(c)

Sol. The correct answer is option (c).

Error Explanation:

e The phrase "to go for a" is incorrect because the verb "insist" is always followed by the preposition
"on" and a gerund (verb+ing), not an infinitive (to + verb).

e The correct phrase should be "insisted on going for" instead of "insisted to go for".

Correct Sentence: "Despite being warned about the storm, he insisted on going for a late-night drive."

$9. Ans.(b)

Sol. The correct answer is option (b).

Error Explanation:

e The phrase "that he knows nothing" is incorrect because after the verb "pretended”, the correct
verb tense should be in the past tense for consistency.

e The correct phrase should be "that he knew nothing" instead of "that he knows nothing".

Correct Sentence: "He pretended that he knew nothing about the secret plan discussed in the

meeting."

$10. Ans.(a)

Sol. The correct answer is option (a).

Error Explanation:

e The phrase "Not only he" is incorrect because the correct structure for "Not only... but also”
requires inversion.

e The correct phrase should be "Not only did he" instead of "Not only he".

Correct Sentence: "Not only did he ignore the warnings, but he also mocked the elders."

S$11. Ans.(b)
Sol. The correct answer is option (b).
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Error Explanation:

e The phrase "an unique solution" is incorrect because the article "an" is only used before words
that begin with a vowel sound.

e "Unique" begins with a /ju:/ sound, which is a consonant sound, so "a" should be used instead of

an".
Correct Sentence: "She found a unique solution to the complex logistical problem."

S$12. Ans.(b)

Sol. The correct answer is option (b).

Error Explanation:

e The phrase "to blow out" is incorrect because the correct phrasal verb is "blow up"”, which means
"to destroy something with an explosion".

e "Blow out" means "to extinguish (a flame or light)", which does not fit in this context.

Correct Sentence: "The rebels planned to blow up the bridge before reinforcements arrived."

$13. Ans.(d)

Sol. Statement (I) is correct because the passage states that the reversal of online betting laws in the
U.S. has created a ripple effect, influencing betting trends in Europe and beyond.

Statement (II) is incorrect as the passage does not mention traditional casinos becoming obsolete but
only highlights the advantages of online platforms.

Statement (III) is correct as the passage explicitly states that online betting platforms use Al and
blockchain technology to enhance security and facilitate seamless transactions.

S$14. Ans.(d)

Sol.

(a) Incorrect - The passage does not state that traditional casinos will completely disappear; it only
contrasts them with online betting platforms.

(b) Incorrect - The passage does not mention algorithm manipulation by gambling companies to
increase losses. It focuses on gamification and accessibility as risks.

(c) Incorrect - The passage highlights increased sports engagement due to online betting but does
not mention it leading to biased betting outcomes.

(d) Correct - The passage states that "a lack of financial literacy among new bettors exacerbates the
potential for substantial monetary losses.” This makes financial education a major concern.

(e) Incorrect - While the passage discusses risks, it does not suggest that governments will
completely ban online betting again. Instead, it emphasizes the need for regulatory balance.

$15. Ans.(b)

Sol. Statement b is incorrect.

(a) True - The passage states that "the legislative reversal has catalyzed a global ripple effect, influencing
betting dynamics in Europe and beyond.”

(b) False - The passage never claims that Al has completely eliminated gambling addiction. It
acknowledges that responsible gambling initiatives exist but states that risks still persist.

(c) True - The passage states that "the gamified nature of online casinos may obscure the psychological
toll of compulsive gambling.”
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$16. Ans.(b)

Sol. In the passage, "engage" is used to describe how online betting platforms hold users' attention

through interactive and immersive experiences. The word "captivate" means to fascinate or deeply

attract someone, making it the closest synonym.

The incorrect options:

e Capture means to physically seize or take something by force, which does not fully align with the
meaning of "engage."

o Emerge means to come into view or existence, which is unrelated.

e Replace means to substitute something, which is different from engaging an audience.

o Evolve means to gradually develop, which does not convey the meaning of holding attention.

$17. Ans.(c)

Sol.

e (a) Incorrect - The passage states that European markets have also benefited, not just U.S.
leagues.

e (b) Incorrect - While risks are mentioned, the passage does not claim responsible gambling
initiatives have been overwhelmed.

e (c) Correct - The passage states that "this legislative reversal has catalyzed a global ripple effect,
influencing betting dynamics in Europe and beyond." It also highlights increased revenue and
engagement in sports.

e (d) Incorrect - The passage contradicts this by explicitly mentioning international influence.

e (e) Incorrect - The passage does not state that the sports industry has opposed online betting.
Instead, it suggests increased engagement.

$18. Ans.(b)

Sol.

e (a) Incorrect - The passage acknowledges regulation in some regions, particularly Europe,
meaning gambling is not completely unregulated.

e (b) Correct - The passage states that "the accessibility and anonymity afforded by digital gambling
platforms can foster addictive behaviors, particularly among impressionable youth." It also warns
about financial losses.

e (c) Incorrect - The passage contradicts this by stating that sports leagues have benefited
financially from online betting.

¢ (d) Incorrect - The passage does not focus on the decline of casino culture, but rather on the risks
within online gambling.

e (e) Incorrect - The passage does not mention market saturation or instability of gambling
companies.

$19. Ans.(b)

Sol. The word "vice" in the passage refers to a harmful or immoral habit, particularly in the context of

compulsive gambling. The opposite of "vice" is "virtue,” which means moral excellence or good

behavior.

The incorrect options:

e Corruption refers to dishonesty or unethical behavior, which is similar to vice.

o Immorality means a lack of moral principles, which is also similar to vice.

e Sin refers to a wrongful act, often in a religious context, making it synonymous with vice.

e Depravity means moral corruption or wickedness, which aligns with vice rather than being its
opposite.
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$20. Ans.(c)

Sol.

o Statement (I) is incorrect because the passage explicitly states that the legalization of online betting
in the U.S. has had a ripple effect globally, including in Europe.

o Statement (II) is correct, as the passage mentions that online gambling is more engaging due to the
gamification of interfaces.

o Statement (III) is correct, as the passage states that live-streaming services have been integrated to
enhance real-time interaction.

S$21. Ans.(b)

Sol. The word "launching" in the passage refers to the act of starting or introducing something new,

such as a gambling platform. "Initiating" means beginning or setting something in motion, which is the

closest synonym. The incorrect options:

o Terminating means ending or stopping something, which is the opposite of launching.

o Encouraging means motivating or supporting, which does not convey the idea of starting
something.

e Preponing means rescheduling something to an earlier time, which is unrelated to launching.

o Withdrawing means pulling back or removing, which is also the opposite of launching.

$22. Ans.(b)

Sol. The correct answer is CAB.

Error Explanation:

e The word "torrential” (A) should describe "rain", not the temple.

e The word "majestic" (B) should describe "structure”, not the rain.

e The word "crumbled” (C) should describe the state of the "temple", not the structure directly.
Correct Sentence:

"The ancient temple crumbled under the relentless force of the torrential rain, leaving only fragments
of its once majestic structure scattered across the valley."

$23. Ans.(a)

Sol. The correct answer is CBA.

Error Explanation:

e The word "pivotal” (A) should describe "strategic advantage", not "to launch".

e The word "reluctance” (C) should describe "to launch", meaning hesitation.

o The word "offensive" (B) is correctly placed.

Correct Sentence:

"The commander’s reluctance to launch the offensive at dawn cost the army a pivotal strategic
advantage in the battle."

S$24. Ans.(e)

Sol. The correct answer is No rearrangement required.

Explanation:

e The words "astute”, "crucial”, and "unraveled" are already placed correctly.

e No rearrangement is needed as the sentence conveys the intended meaning clearly.
Correct Sentence:

"The detective’s astute observations led to a crucial clue that unraveled the mystery."
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$25. Ans.(b)

Sol. Correct answer: (b) CAB

Error Explanation:

e The word "adversity" (B) should describe the situation in which the leader’s attitude is tested.

e The word "resilient" (A) should describe attitude, not determination.

e The word "fearless" (C) should describe determination, as it conveys confidence in facing
challenges.

Correct Sentence:

"The leader’s attitude in adversity was resilient and motivated his team to face challenges with

fearless determination."

$26. Ans.(b)

Sol. The correct sequence is FBADCE.

The sentences are rearranged logically to form a coherent and meaningful paragraph about how women

in a village addressed water shortages and gained government support for their efforts.

o Sentence (F) is the first because it introduces the problem—water shortage in the village—for
decades.

o Sentence (B) follows as it adds a timeline (1990s) and explains how women took action to solve
the crisis.

e Sentence (A) comes next because it describes the impact of their efforts, i.e., successful irrigation
and farming revival.

e Sentence (D) is placed fourth as it logically follows, showing how the government recognized and
rewarded their work.

e Sentence (C) is next as it continues the idea of government support by mentioning new policies for
women’s empowerment.

e Sentence (E) concludes the paragraph by summarizing the broader significance of this movement
for sustainability and gender progress.

This order ensures a clear and logical flow of ideas, from the problem to the solution, government

intervention, and the overall impact.

$27. Ans.(d)

Sol. The correct sequence is FBADCE.

The sentences are rearranged logically to form a coherent and meaningful paragraph about how women

in a village addressed water shortages and gained government support for their efforts.

e Sentence (F) is the first because it introduces the problem—water shortage in the village—for
decades.

o Sentence (B) follows as it adds a timeline (1990s) and explains how women took action to solve
the crisis.

e Sentence (A) comes next because it describes the impact of their efforts, i.e., successful irrigation
and farming revival.

e Sentence (D) is placed fourth as it logically follows, showing how the government recognized and
rewarded their work.

o Sentence (C) is next as it continues the idea of government support by mentioning new policies for
women'’s empowerment.

e Sentence (E) concludes the paragraph by summarizing the broader significance of this movement
for sustainability and gender progress.

This order ensures a clear and logical flow of ideas, from the problem to the solution, government

intervention, and the overall impact.
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$28. Ans.(c)

Sol. The correct sequence is FBADCE.

The sentences are rearranged logically to form a coherent and meaningful paragraph about how women

in a village addressed water shortages and gained government support for their efforts.

o Sentence (F) is the first because it introduces the problem—water shortage in the village—for
decades.

o Sentence (B) follows as it adds a timeline (1990s) and explains how women took action to solve
the crisis.

o Sentence (A) comes next because it describes the impact of their efforts, i.e., successful irrigation
and farming revival.

o Sentence (D) is placed fourth as it logically follows, showing how the government recognized and
rewarded their work.

e Sentence (C) is next as it continues the idea of government support by mentioning new policies for
women’s empowerment.

o Sentence (E) concludes the paragraph by summarizing the broader significance of this movement
for sustainability and gender progress.

This order ensures a clear and logical flow of ideas, from the problem to the solution, government

intervention, and the overall impact.

$29. Ans.(a)

Sol. The correct sequence is FBADCE.

The sentences are rearranged logically to form a coherent and meaningful paragraph about how women

in a village addressed water shortages and gained government support for their efforts.

o Sentence (F) is the first because it introduces the problem—water shortage in the village—for
decades.

o Sentence (B) follows as it adds a timeline (1990s) and explains how women took action to solve
the crisis.

o Sentence (A) comes next because it describes the impact of their efforts, i.e., successful irrigation
and farming revival.

e Sentence (D) is placed fourth as it logically follows, showing how the government recognized and
rewarded their work.

e Sentence (C) is next as it continues the idea of government support by mentioning new policies for
women’s empowerment.

e Sentence (E) concludes the paragraph by summarizing the broader significance of this movement
for sustainability and gender progress.

This order ensures a clear and logical flow of ideas, from the problem to the solution, government

intervention, and the overall impact.

$30. Ans.(e)

Sol. The correct sequence is FBADCE.

The sentences are rearranged logically to form a coherent and meaningful paragraph about how women

in a village addressed water shortages and gained government support for their efforts.

o Sentence (F) is the first because it introduces the problem—water shortage in the village—for
decades.

e Sentence (B) follows as it adds a timeline (1990s) and explains how women took action to solve
the crisis.
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e Sentence (A) comes next because it describes the impact of their efforts, i.e., successful irrigation
and farming revival.

e Sentence (D) is placed fourth as it logically follows, showing how the government recognized and
rewarded their work.

o Sentence (C) is next as it continues the idea of government support by mentioning new policies for
women’s empowerment.

o Sentence (E) concludes the paragraph by summarizing the broader significance of this movement
for sustainability and gender progress.

This order ensures a clear and logical flow of ideas, from the problem to the solution, government

intervention, and the overall impact.

S$31. Ans.(e)

Sol.

e A-D: "Struggling to navigate the stormy seas, they refused to abandon hope." (This forms a complete
and meaningful sentence.)

e B-E: "The unexpected turn of events left the entire nation in shock." (This is correct, but not part of
the answer choices.)

e C-F: "Enduring the relentless hardships, he emerged stronger than before." (This forms a complete
and meaningful sentence.)

Correct Pairs: A-D and C-F

$32. Ans.(d)

Sol.

e A-D: "Concealing his growing frustration, was an act of defiance." (Incorrect because "Concealing his
growing frustration"” is a dependent clause and does not fit properly with "was an act of defiance.”)

e B-E: "The sudden betrayal of his closest ally shattered his faith in loyalty." (This forms a complete
and meaningful sentence.)

e C-F:"Fiercely resisting the oppressive rule, was rolling hills in a warm glow." (Incorrect because "was
rolling hills in a warm glow" does not make logical sense in this context.)

Correct Pair: B-E

$33. Ans.(a)

Sol. The sentence states that black pepper is an essential component of cuisines worldwide and has

been used for centuries. Since the present relevance of black pepper is emphasized, the verb must be in

the present simple tense to indicate a general fact.

« "Remains" means continues to be or still is, which suits the sentence best.

e Other options like "signifies,” "denotes,” "embodies," and "constitutes” focus on meaning or
representation rather than continued existence.

Meanings of all options:

e Remains - continues to be in the same state without changing or disappearing.

o Signifies - serves as a symbol, indication, or representation of something.

o Denotes - explicitly states or refers to the exact meaning of something.

 Embodies - represents or expresses an idea, quality, or concept in a tangible or recognizable form.

o Constitutes - makes up or forms a part of something larger or important.
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S$34. Ans.(e)

Sol. The sentence discusses how black pepper was originally cultivated in South Asia. Since this refers

to a past action, we need past simple tense.

o "Was" correctly reflects that black pepper was cultivated in the past.
"Had been" and "was being" suggest past perfect and past continuous, which are incorrect here
as there is no indication of another past action happening before or simultaneously.

Meanings of all options:

e Is - present tense of “to be,” meaning something currently exists.

o Has - present perfect, used when something started in the past and continues to the present.

o Had been - past perfect, used when an action was completed before another past action.

e Was being - past continuous, implying an action was ongoing at a past time.

e Was - simple past, used for an event that happened and was completed in the past.

$35. Ans.(c)

Sol. The sentence describes where black pepper's aroma comes from. Since "comes" is in present

simple, the verb in this blank must also be in present simple tense to indicate a general truth.

o Originates - begins or starts from a specific place or situation.

o Other options like "emerges, stems, and exudes" are more about growth, flow, or spreading,
which do not directly fit the meaning of an aroma coming from oils.

Meanings of all options:

o Emerge - comes into view, develops, or becomes visible.

e Derives - originates from a particular source or has something as its root cause.

e Originates - begins or starts from a specific place or situation.

e Stems - results or arises from something as its cause or basis.

o Exudes - gives off or releases something, such as a liquid, smell, or emotion.

$36. Ans.(a)

Sol. The sentence states that black pepper is widely used today, which means we need present simple
tense to indicate a current fact.

o "Is" correctly fits, as black pepper is still widely used.

e "Was" and "had been" would incorrectly imply that black pepper is no longer widely used.
Meanings of all options:

e Is - present tense of “to be,” indicating something currently exists or happens.

e Was - simple past, used for something that happened and was completed in the past.

o Has been - present perfect, used for an action that started in the past and continues to the present.
o Had been - past perfect, used when an event happened before another past action.

o Will be - future tense, referring to something expected to happen later.

$37. Ans.(b)

Sol. The sentence states that black pepper was once considered a luxury item, which describes a past

situation.

e "Was" correctly reflects that black pepper used to be valuable in ancient times.

o "Has" and "is" are incorrect because they suggest black pepper is still considered a luxury, which
is not the intended meaning.
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Meanings of all options:

o Has - present perfect, used when an action from the past still has relevance in the present.
e Was - simple past, referring to a completed action or state in the past.

e Had - past perfect, indicating that an event occurred before another past event.

o Is - present tense, meaning something currently happens or exists.

$38. Ans.(a)

Sol. The sentence explains that grinding leads to essential oils dissipating over time, meaning it is a

cause-effect relationship that happens every time pepper is ground.

o "Causes" is correct because it expresses a general truth in present simple tense.

o "Has caused" and "had caused" are incorrect as they refer to specific past actions, not a repeated
occurrence.

Meanings of all options:

o Causes - brings about an effect or result, usually in a general or repeated context.

o Had caused - past perfect, used when something caused an event before another past action.

o Has caused - present perfect, indicating an event that started in the past and has relevance to the
present.

o Will cause - future tense, indicating something that will result in an effect later.

$39. Ans.(a)

Sol.

e The phrase "Despite of the heavy storm" is incorrect because "despite” does not require the
preposition "of."

e The correct structure is "Despite + noun/gerund” (e.g., Despite the rain, Despite his efforts).

o "In spite of" is a correct alternative but "in spite" alone is incorrect.

e Other options (b), (c), and (d) are grammatically incorrect.

Correct Sentence: Despite the heavy storm, the fishermen decided to set sail early in the morning.

$40. Ans.(d)

Sol.

e The sentence "Had he known about the crisis, he would help his colleagues before leaving." is
incorrect because it describes a past hypothetical situation.

o This requires a third conditional structure:

If + past perfect, subject + would have + past participle.

e Correct structure: Had he known about the crisis, he would have helped his colleagues before
leaving.

$41. Ans.(a)
Sol
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E BRI Weh1RId UfAeTel &1 e A = 150 — 120 = 30

F GRT USIF1d JHER T &1 ol e = = x 100 = 125
F ERT TS 1R1d Ufm1e @t oo T =22 x 4 = 80
3P 3 = 125 — 80 = 45

S$47. Ans.(e)

Sol.
(20 + 10 + 25 + X + 2X)% = 1009

3X =45
X=15
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A BRI USIRIT URB13f 3R THER T &1 o T = 130
A ERI1 UBITRIT Ufib1afl & pot UAT = 50

A BRI USHIRIT THMER A S G T=T = 130 - 50 = 80

T T YT ERT YHITRIG WHER WA 3 $l T =22 x 100 = 400

B GRI USRI YHRR UAl B da Y =400 x 2= = 40
C GRI GBI FHER FAl &I ool ] = 200 x == = 100
D SR USHIRIT THER Al B G WA =400 X —— = 60

E GRI UBIRId YHIR TAl &I da el =200 x 2= = 120

B G UGITRIA UiAdTe 31 P el = 180 - 40 = 140
C G Go1TRrd Ufi®Tsi @1 Pt &A1 = 200 - 100 = 100
D &RT USRI UEID13T & o T = 240 - 60 = 180
E G UebIR1d Ufiaprait ®f ot §&AT = 150 - 120 = 30

A GRI S 7T UBBIS B §8I = 50 x 22 = 20
A G 9 T AR UAT 31§ = 80 x 2 = 64
3HIF 3UTd = 20: 64

=5:16

S48. Ans.(a)

Sol.
(20 + 10 + 25 + X + 2X)% = 100%

3X =45

X=15

A BRI USRI URD13H 3R GHER Wl &1 $d 9811 = 130

A BRI U1 Uferafl &1 ed &1 = 50

A BRI YBHIRId FAMER T & G Y= = 130 - 50 = 80

il T HTRIc! ERT USIRIG THIER WA 31 el W =2 x 100 = 400

B BRI UBI2d YHMR WAl 1 o U= =400 X 2= = 40
C GRI YD1 YHER TAl & $el AT = 400 X == =100
D §RI UHIRId AR UAl & ol TE& =400 x == = 60

E GRT UGG YHREIR WAl BT $of =T =400 x == = 120
B GRI1 WebIIAId URA®ISH &I el AT = 180 — 40 = 140
C GRT YD1 UfASBTH &1 fol YA = 200 — 100 = 100
D BRI UHIRId UAH131 &l el AT = 240 — 60 = 180
E BRI USTRId U@l & Ha A1 = 150 — 120 = 30

DGR USRI Wl UfAmT3 BT WA = 180 x 2 = 100
SPHTE U = —= x 100 = 125%
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S49. Ans.(e)

Sol.
(20+ 10 + 25 + X + 2X)% = 100%

3X =45

X=15

A BRI T BTl SR WHMER U BT Pt J&T = 130
A BRI UBITRId UfA®1el &1 $d &A1 = 50

A BRI UBIRIG AR WA BT Hof YT = 130 - 50 = 80

il U USRI GRI USIRId FHER U 31 $d 98 =2 x 100 = 400
B SR UBIRId THRR T3 &I el T =400 X 2> = 40
C GRT YBIRIA YHER Al B Hof VAT =400 x = = 100
D §RT HPTRId YHMER TAT &1 T W =400 X —— = 60

E BRI UGTRIG THIER WAl B G VAT =400 X - = 120

B GRT TR UFToR ) el TG = 180 - 40 = 140
C ERT YDA UFIbIH Bt Hof T = 200 - 100 = 100
D &R UIRIG URTal &1 el Y& = 240 - 60 = 180
E ST UTRIA TSI B o H = 150 - 120 = 30

G ZTT THTTETT qHTATE ToAT T %l F&AT = 4(15)+120=180
STERTTATT TTarhT3l ht et |eaT = 50 - 15 = 35
FATT TRT = 180 + 35 = 215

S50. Ans.(a)

Sol.
(20 + 10+ 25+ X + 2X)% = 100%

3X =45

X=15%

AR 3t SR YHER T BT et T = 130

A BRI WHITRId UGS & e Y=l = 50

A BRI UBIRIG AR WA BT $of & = 130 - 50 = 80

Rkl mmwﬁaﬁﬁm——xmu_@n

B GRI UHIRId THER W & dad Y =400 X 2= = 40
C GRT YBIRIG YHER Tl B $of TR =400 x 2= = 100
D BRI UHIRId YHMER WAl & Fa T=AT =400 x == = 60

E BRI UGIRId THIER WAl 31 $d YT =400 x = = 120

B GRT ST URBToN ) et W = 180 - 40 = 140
C GRT GD1IRI UE®1ST B o Y= = 200 - 100 = 100
D GRT Ueh IR IFA®1SH BT Pt T = 240 - 60 = 180
E BRI UIRId Ubdrsil & a ¥ = 150 - 120 = 30
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F 1T YhT9ra TEaRTal il et 6T = 12(15)-140=40
iy o =220 = 110

2

S$51. Ans.(b)
Sol.

T A 3R B BT 99 HHI: 43 304 3R 52 T4 &
A 3R B BT ATH-YIATH 301 = 4a X 1: 5a X 12 = 4:5
HH Hd drH 900x ¥9U §

A 1 TH 88T = 900x x%x%+gunx>~:%x;ﬁ= 135x + 280x = 415x

Bﬂwm=gﬂﬂxx%x§+9ﬂﬂxx%xg=135x+350x=485x
ATQ,

485x — 415x = 280

x =4

@l M = 900 X 4 = 3600 ¥YY

S$52. Ans.(e)

Sol. ATQ,

(X+14)xX +64= (X+1)(X+16)
14X +64 = 17X+16

48 = 3X

X=16

$53. Ans.(d)
Sol.

HHET e P30l §
S G R% &
AT 3Mafe T Oy

ATQ,
PXRXT

100

13P—P =
1200=RxT
fear 7@, R = 3T
3TxT=1200

T =20
R=3T=3(20) =60

$54. Ans.(b)
Sol.

M1 19 BT 4RT & 3P T 6x [PH/Her d
HmﬂmaﬁTﬁzexx§=xWﬁiﬂT
mﬁﬂﬁﬂﬁﬁﬁ:&—x:sx%ﬁﬁmﬂ
EHTW,%= (5x — x)
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A o
Addal2417)

24 = 4x
6=x

T @1 7Ifd = 6 et Her

I1id Wil | 919 &1 71fd = 30 fHH/Her

1o ) Prime-

D—-3 D+30 cg
36 30 ) ALL EXAMS,
(5D-15+6D+180)=990 ONE SUBSCRIPTION.
11D=825
- z]e]ejo]O
$55. Ans.(d)
Sol.

HHT g X H g¥ 3R U1 HHRT: 5x 3R 3x 8
duTgdd v ¥ g 3R Ul hH: 7y AR 5y &
fean 7y -5y =3x

2y =3x

yix=3:2

]:|F|'|y=33‘3':n?x= 2a

ATQ, 5y = 5x+5

15a-10a=>5

a=1

X ¥ Do [0 =16 TR

$56. Ans.(a)

Sol. X+Y+Z =190 T9

T T, X<Y<Z

Y-X=2(Z-Y)

AT &, T Y 37T Z 3t 3 FHeT: 7x 3T 9x g

X+7x+9x =190
16x = 190-X ----(i)

FAA (a) THIHLOT il HIE HT THdT &
A, X At ~LAqH FATHAT 3 = 30

$57. Ans.(d)
Sol.

AT X = 100x
3k, I BT 3ffhd Iol = 100x x 222 = 140x FTI

100

T, I T a8 = 140x X o> = 112x T
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e a1, 791 39 Hed = 100x - 100 TT
R 41 fa9hd ek = 112x +80 T

=5x (100x — 100) = 112x + 80
160x - 160 = 112x +80
48x = 240

x=5

M, X = 100%5 = 500 T4
T T 7T fdehd el = 112x5 = 560 T4

$58. Ans.(d)
Sol. 7 ST T o7 AT &, ST: 7 T8 AAT HIT S &t F 47

Bx5 _
TTSTHT A T =1<F 3T JTH FeT AT 3T = (%-2500) X — = (0.40X - 1000) &3
10+10

T AT a6 o1 20% T a9 it 37§ qHIT 4TS 7 = (10+10+=——) =21%

ATQ, 0.40X-1000 - 0.21X =900
0.19X=1900
X=10000

T 71T = 10000 - 2500 = 7500 T4

$59. Ans.(d)
Sol. F@AT FT e 2
8 21 41 72 116 177 257

13 20 31 44 61 20
+7 +11 +13 +17 +19

$60. Ans.(e)

Sol. FET & T g:-
5040x1/7 = 720
720 x1/6 = 120

120 x1/5 = 24
24x1/4=6
ﬁx§=2

S61. Ans.(a)

Sol.
CIRICIG]

O,

fre


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

e=50

a=x+10
c=x+10-15=x -5
g=28
21x3=x+10+x-5+28
30 =2x

15=x
Wbaﬁ—{f=n3ﬁ_{2n
n+2n+e+c=96
n+2n+50+10=96
12=n

XSt

(N

free
9T ST = 24: 25

S62. Ans.(b)
Sol.
fopehe
e=50
a=x+10

c=x+10-15=x -5
g=128
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21x3=x+10+x-5+28
30 =2x
15=x

AT b 3T f = n 3T 2n

n+2n+e+c=96
n+2n+50+10=96
12 =n

et

(N

free

FAA U Gl THE FLA a7l 1 = 25+10+28 = 63
FTE I =63 -50=13

$63. Ans.(c)
Sol.

i ﬁ i b

/N
AN

fFepe
e=50
a=x+10
c=x+10-15=x -5
g=128

21x3=x+10+x-5+28
30 =2x
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15=x
HATET b 3T f = n 3T 2n

n+2n+e+c=96
n+2n+50+10=96

12=n
: T =
. o
frepe
2%x28=d
56 =d

ATATE T THE LA a7l T ANl = 25+12+50+56 = 143

S64. Ans.(b)
Sol.

fopehe
e=50
a=x+10
c=x+10-15=x -5
g=128
21x3=x+10+x-5+28
30 = 2x

15=x
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AT b 3T f =n 3T 2n

n+2n+e+c=96
n+2n+50+10=96
12=n

o it

O

XHTHTT =15

S65. Ans.(a)
Sol.

ardtara S

)
AN

e

e=50

a=x+10
c=x+10-15=x -5
g=128
21x3=x+10+x-5+28
30 =2x

15=x

HET b 3T f = n 3T 2n

n+2n+e+c=96
n+2n+50+10:96
12=n
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(&

free
| ISR AV pare) m{ﬁaﬁﬁqi%ﬂﬁa—; X 96 = 40
&ﬁﬂEGﬂ?:”'u““— 209

=

$66. Ans.(c)
Sol. ITHT @ A FT T FHNT T7 HE&ATU = a, a+2, a+4, a+6 3T a+8

HTET S@AT B T 919 FHET [AH G470 = b, b+2, b+4, b+6 3T b+8
ATQ, a+4 - b+4 = 3

a-b=3-(i)

3T 197, a+b = 397 —(ii)

(i) 3% (i) ¥ &H A AT

a=200

dTb =197

T9fTT T = (200+4) + (197+4) = 405

$67. Ans.(c)
Sol

T S 1 S SR SIer AT 26x R 11 2
31, I DI A = 11x x = = 7x

ATQ, 26xx11x - 22/7=49x> =528
132x =528

x=4
3iE T = ax7=28 AT
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S$68. Ans.(a)

Sol.

A 3R B 1 IdHH 3G HI TN = 2 x 30 + 20 =80 TH
AT A ©1 Id9H 31 = 5x— 8 T

qUT B P gaqH 31 = 7x - 8 IH

ATQ, 12x-16 =80

12x =96

Xx=8
dH i UG B DI 3G = (7x8—8) —3=45
N, C BT A HG =45 x 2+ 5= 40T

$69. Ans.(c)

Sol.

| |, {1 S B 31 = 25x
3d:, V DI A =25x x%= 24x
ATV BT Y = Ty

3{d:, S I Y = 8y

D ST 3 BT 2q7 4T W HRAT 5
11|, s 3 99d = 14000 %.

V & gdd = 14800 %.

U, D Bl 3G, S B 3G DI o1 H 2000 THY HED &
IGﬁTIIﬁ' (25x-14000) _ 8y

Y (24x—14800) Ty
17x = 20400
x=1200%,
D aﬁ&"q= 25 % 1200 + 2000 = 32000 %.

D Tﬁaﬂﬂzg X 32000 = 12800 5.

V 3R D DI SId DI HHRT: HIUd = 14800 : 12800 =37 : 32
3T, BYT | 3R 1| GHT U 1Y UY T 3w & & ford uai g

$70. Ans.(c)
Sol.

19, A 3R N ®I d 3 = 48 94
N, AH1 S D 3 x a4 &
N @I 3T = (x +4) aY
R®I 3 = 2x a4
U, A BT Y = 3x dY
ATQ,
3x‘+2.r+4: 243-&
x=11 94
2 94 91¢ R DI 3 = 2x11+2 =24 dY
1 3R 11 T & IR T < wear B
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$71. Ans.(a)
Sol. L. STTHYOT FHTAT &: e 31T TOTS o o1 hls HIdT Ha g Tl o, SHITT ST Ha el Te<or H
1. STHYOT A5l FEAT §: TS ST S o o1 IS ST HG L Aol @, THICT AT FHeel STTHLT A5l H

S$72. Ans.(b)

Sol. 1. SITEIT A5l HIAT §: T HT THG o Tl GISHT A AAl o6 AT TS T80T | THETT, TATAAT H AT Haer

FTELI Al HT
1. SAEOT FLAT &2 o &1 qg T S Wl &, FHT 19T Tl gl

$73. Ans.(d)
Sol. 1. STTHYIT HTAT g: TIe 3T T o o1 IS S LT Ha e Aol &, AT, GATTAT Ha el TN HLT

1. STHYOT AT & Ao T, Fael o HILT, FF AT Feg AT [H 12T T H e Tal gl
I

S$74. Ans.(e)
Sol.

M J

Jj M H
(N I

+2
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$75. Ans.(c)
Sol.

| |
83573971
1

$76. Ans.(b)
Sol.

R[]

CEQ

CFO

CTO

CMO

VP

GM

AGM

DGM

EEEER

mmeUﬂIﬂﬁﬁ)

$77. Ans.(c)
Sol.

Uq

CED

CFO

CTO

CMO

VP

GM

AGM

DGM

PEEER

mm'—':r-l:l'n:ﬂnﬁ)

$78. Ans.(e)
Sol.

L[]

CEO

CFO

CTO

CMD

VP

GM

AGM

DGM

EEEED

mmeU*ﬂmﬂﬁﬁ)
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$79. Ans.(d)
Sol.

L[]

CEO

CFO

CTO

CMD

VP

GM

AGM

DGM

EEEED

mm'—':bl:l'nmmnﬁ)

$80. Ans.(b)
Sol.

[}

CEO

CFO

CTO

CMO

VP

GM

AGM

DGM

PEHER

mm'—'b:-cl'nmmnﬁ)

$81. Ans.(a)
Sol.

R
Row 2 —J

Row 1 }
D

$82. Ans.(b)
Sol.

R
Row 2 =i

+ <

Row 1 }
D

m—u—

=4
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$83. Ans.(c)

Sol.

.

= L
[

v ==

Row 2

- 2

l_.lﬂL

—+ e

I'F

Row 1

S$84. Ans.(e)

Sol.

o Qi S
[=T.
W -

i

R
|
1

Row 2

|.|H

+ <
l..ln'.._

~+ e

+a

Row 1

$85. Ans.(a)

Sol.

o Q. 19
[=T.
7 .

= -

R
|
1

Row 2

|.|H

4+
-
~+en

-1 =

+a

Row 1

$86. Ans.(e)

Sol.
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$87. Ans.(d)
Sol.
CIE7: ]
F
A
I
E
H
B
D
G
C
$88. Ans.(c)
Sol.
T
F
A
I
E
H
B
D
G
C
$89. Ans.(a)
Sol.

nmum:m_:ﬁﬂi:
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S90. Ans.(b)
Sol.
Llen)
F
A
|
E
H
B
D
G
C
S91. Ans.(e)
Sol.
HTPIS Sisra TS
i Ul Q-7 S- e
U-= T- R V- TS
R - The
$92. Ans.(c)
Sol.
HTPIS st EETIn]
P- Q-4 s - e
U-=0 T - e V-7
R - The
S93. Ans.(d)
Sol.
HIPIS bisrat T
i\l Q-4 5 - T
U T - foeR V- TS
R - ¥hq
S94. Ans.(e)
Sol.
HTEIS e T
i\l Q-3 5 - T
U-&I T - e V-1
R - Whq
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$95. Ans.(b)
Sol.
ATFABIS o E ]
P - Q-¥ S - B
U- g3 T - ReaR V- Tiies
R - Whg
$96. Ans.(d)
Sol.
Hioret fe T
7 E TUd
6 B ETl
5 C Tefrell
4 G EIC T
3 A G
2 F RIG|
1 D HIa
$97. Ans.(e)
Sol.
Tiforet o Eol|
7 E qud
6 B el
5 C PEIED
4 G E 1B
3 A e
2 F GG
1 D HIa
$98. Ans.(c)
Sol.
Hforet ot e8|
7 E Ud
6 B ETl
5 C HGIE]]
4 G dAee
3 A TG
2 F RIS
1 D HIa
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$99. Ans.(d)
Sol.
Tferet CE] T
7 E U
: 1w | Prime
5 C ﬂEﬂ‘aﬁ
4 G 2 [eh ALL EXAMS,
3 A qhe ONE SUBSCRIPTION.
2 F GG 2 e
o JeJol®

$100. Ans.(b)
Sol.

ofed | @i

= e || de o] e |~
D(mle | oy|o| 0| m

HEHEEERE
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